1 EMRUEMEAM

BN SEHAG T A

M E B | EROPEROREE I TR | 2T S e | 8 SR | i
T () —1 AL 5385390 [FEFH12—5 ) 30, 100 29,800 | A 1.0
P (F)  —2 IEERTFACK11652% 1 52, 400 52, 400 0.0
T () —3 B H BT R 5 % 4 64, 700 64, 900 0.3
() —4 VG ) 1T - A A 2 1540720 55, 800 55, 800 0.0
() —5 A R ET233730 79, 500 79, 800 0.4
L () —6 JUHRET IR A A6 18907 2 11, 700 11, 700 0.0
LR —7 E%Eﬂ 6 TTR968%34 THHAE 6 —10— 69, 000 69, 000 0.0
T (R)  —8 i\%jﬁ 1 TH2655%14 TR 1 =3 46, 000 46, 000 0.0
L () —9 e BT 12438214 70, 700 71, 300 0.8
BITOR) —10 f{gT5T52191§6 [ EJIARS —14 58, 700 59, 000 0.5
AL (R)  —11 %£T7TE 16 TRHAT —1 76, 500 77, 300 1.0
BT —12 tfiﬁ& 3 TH258 THHAES — 9 19, 400 49, 100 0.0
Ayn () —13 75 )1 T 5 L6 32802 18 56, 700 56, 700 0.0
T () —14 HIRTTT0% 67, 500 67, 500 0.0
T () —15 F AT FPERATIE 16 62, 900 63, 300 0.6
T () —16 T BT 742K 18397 6 41 46, 400 46, 500 0.2
T () —17 JOARAE & BT - L 73347 50, 500 50, 600 0.2
Pir () —18 O FHHET 12062 9 61,000 61, 000 0.0
T () —19 JE ST 4 535 F / 1155897 22, 400 22,300 | A 0.4
T (B —20 JEE S BT R TR B 1927 11,100 11,000 | A 0.9
T () —21 JEE B BT e e PR 5 I £ 68 7 19, 400 19,100 | A 1.5
T () —22 ESARET KA 15497 11, 900 11,800 | A 0.8
fayc () —23 I\ YT 55 55382 354+ 9, 500 9, 500 0.0
Pr () —24 ESARET N 11457 8 15, 500 15,300 | A 1.3
v () —25 FORBAMTEHH1732% 3 14, 100 13,800 | A 2.1
ir () —26 R BIHT 1R 6657 2 9, 900 9,700 | A 2.0
v () —27 FORBIHT LI 280 % 8, 000 7,900 | A 1.3
fir () —28 J\VERHRUER2013% 22,900 22,900 0.0
fayc () —29 J\ERTRERF 7465 4 F4 11, 100 11,000 | A 0.9




BN SEHAG T A

O E B | EROPEROREE I R | 2T SRR | 8 SR | i
fRir () —30 JVERT H 3156214 31,700 31,600 | A 0.3
fayr (B)  —31 T ENT543%23 39, 100 39, 300 0.5
fRir () —32 TIGHTIGHT 1713 2 46, 900 47,100 0.4
fayr (B)  —33 RIEHT B 2159 2 17, 400 17, 000 2.3
Rr () —34 SRE T HURTF9947% 24 17, 400 17, 200 1.1
T (F)  —35 B EET H BRI A814 %3240 32, 500 32, 700 0.6
fRir () —36 HHERT H B AR R 41135 1 35,300 35,300 0.0
fayr () —37 PO EAERERT 10372 29, 000 28, 600 1.4
fmir () —38 WS HT 83378 30, 400 30, 000 1.3
fayr () —39 AFERT 1197 18, 700 18,600 | A 0.5
BT R —40 255J<““3Lﬁ652%§32 O<CnTAS - 49, 200 49, 200 0.0
AT () —41 EHHTARE51 % 11, 600 11,500 | A 0.9
LK) 3 —1 B HBT A ) 2943 1 — 23,000 | JEER
T () 3 —2 Vr RET 519352 — 12,600 | BER
AL () 3 — 3 LTSI 3973 1 17, 000 17, 100 0.6
L (B 5 — 1 TRHT26% 1 78, 500 78,200 | A 0.4
AT (B) 5 — 2 BT 387 1 102, 000 102, 000 0.0
T () 5 — 3 GISIT10% 4 TG EAT15—14) 59, 700 59, 700 0.0
AT () 5 — 4 ] B HT R 48T 1T 106, 000 106, 000 0.0
T () 5 —5 FE2 T H602% [ 2 —29—10) 108, 000 108, 000 0.0
AL () 5 —6 5] B BT 4709 14+ 114, 000 114, 000 0.0
I (B) 5 —7 BHETTT 2 JR426% 7 110, 000 108,000 | A 1.8
RV (B) 5 — 8 RT3 7 83, 000 82,000 | A 1.2
A (J) 5 — 9 ST R T\ 2297 3 4t 26, 400 26,200 | A 0.8
e (B) 5 —10 EARET I 6123 16, 900 16,400 | A 3.0
AT (B) 5 —11 F O BIHT L PR PE65 13541 25, 600 24,600 | A 3.9
Fys (B) 5 —12 ELRTERT 1427 5 4t 53, 700 53, 700 0.0
fayr (W) 5 —13 SRR AN 1262 30, 400 29,600 | A 2.6
v (W) 5 —14 A ERTHR R AR - 112057 1 41, 500 41, 500 0.0
() 9 —1 JUIEHT 52K+ F 41953717 16, 600 16, 500 0.6
AL (J) 9 — 2 JE 25 Ty A (L6012 57 4k 17, 600 17, 400 1.1




BN SEHAG T A

O E B | EROPEROREE I R | 2T SRR | 8 SR | i
AT (W) 9 — 3 JUSRBTVL 5 o i 1128 % 544+ 9, 300 9, 300 0.0
AL (W) 9 — 4 SRIENT Ve % 47753 1 4% 8, 900 8,850 | A 0.6
AL () 9 — 5 TR ZE T $ 158385 16 15, 200 15,100 | A 0.7
T () 9 — 6 RO AT 12627 1 5k 37, 400 37,000 1.1
FEEOR) —1 15 F T BT 237 11 51,300 51, 300 0.0
FHEO) —2 ENHAT6367 32 28, 600 28,500 | A 0.3
FEHOR) —3 FIRIT701%14 34, 700 34,500 | A 0.6
EHO) —4 HIIET4105% 1 50, 800 50,000 | A 1.6
FEHOR) —5 JEARRT A 4227 24, 600 24,300 | A 1.2
EHOL) —6 —FERT =[E754% 3 16, 400 16,200 | A 1.2
) —7 ST 5%/ 5687556 14, 700 14,400 | A 2.0
EH (L) —8 BIRHET A 1828 9, 900 9,850 | A 0.5
EHOER) —9 JBHET 4 173847 1 8, 800 8,750 | A 0.6
FE (L) —10 —FEET = R514173%10 23,000 22,700 | A 1.3
FHOR) —11 JBETA 2197 9 4, 700 4,650 | A 1.1
() —12 INARHT R A 555 7 3 3, 400 3,350 | A 1.5
(R —13 IR HT AR E A 5897 9 3, 400 3,350 | A 1.5
el (R) 5 —1 JEHT847% 3 69, 000 68,500 | A 0.7
FeH(R) 5 —2 i H W38 % 4 48, 400 48, 400 0.0
el (F) 5 —3 BYHT B A 9747 1 13, 800 13,600 | A 1.4
EH () 5 —4 JBHET 416057 7 9,700 9,600 | A 1.0
el () 5—5 BT =FE13113% 1 4+ 32, 200 31,900 | A 0.9
EHOR) 9 —1 THFET327% 100 14, 300 14,200 | A 0.7
EHEOL) 9—2 JFHHT30507% 3641 13,900 13,800 | A 0.7
HEG) —1 HE 4 il 5-8E 3 & 7 41 41, 500 41,300 | A 0.5
HEM) —2 HWWRARRT 6 T HETE 40, 500 40, 500 0.0
HEM) —3 FAFF FHT 952 4 31,900 31, 800 0.3
HEG) —4 HEFHT701%30 36, 200 36, 100 0.3
MEM) —5 %jffﬂﬁ 2 THI10% 3 TPERHAT2 — 36, 400 36, 400 0.0
HEM) —6 KT - 75 47 25587 18 30, 100 30, 000 0.3
HEG) —7 W BRI 2223% 3 23, 600 23, 400 0.8




BN SEHAG T A

O E B | EROPEROREE I R | 2T SRR | 8 SR | i
HEM) —38 AHTIEART 4 T H 315 44, 000 43,500 | A 1.
HEG) —9 HERT891% 6 26, 200 25,900 | A 1.
HEG)  —10 FHHBT R A 2785% 5 29, 500 29,300 | A 0.
HEG)  —11 HAEHT i/ N1882% 5 18, 600 18,500 | A 0.
HEG)  —12 VE - HET170%8% 33, 300 33,000 | A 0.
HEG) —13 - T AR5 13 25, 900 25,700 | A 0.
HEGR)  —14  [ESYETS— G407 2 26, 100 26,000 | A 0.
HEM)  —156 e AT ZE A 7419 4 4% 4,900 4,800 | A 2.
MEGR)  —16 |(FEHET—EHTHEH2125% 14+ 3, 450 3,400 | A 1.
HEGR)  —17 RALBTHFEEVE AR T 2433% 21,900 21,800 | A 0.
HEG) —18 51T 1 H 8497 204+ 8, 200 8,100 | A 1.
HER)  —19 ZHT AFT 13527 4 8, 350 8,300 | A 0.
HEGR)  —20 AL/ N 150317 8, 450 8,400 | A 0.
HEGR)  —21 IR —¥312717813 16, 800 16, 800 0.
HEG)  —22 THRERT — 517293 1 9,100 9, 000 1.
HER)  —23 RALET & B = 75 4002 18, 300 18, 200 0.
HEE () —24 | RAEBTHFEE R TRESR L 12598 11 26, 200 26, 100 0.
HEGR)  —25 JIH]HF 3913 % 25, 700 25, 700 0.
HEG)  —26 WJINHT R E#T111730% 2 22, 000 22, 000 0.
HEOR)  —27 I BT T 1555363 24, 200 24, 200 0.
HEG) 5 -1 BREGET 2 TH 17 1 67, 100 67, 100 0.
HEUG) 5—2 JEREIT1055% 1 75, 000 75, 000 0.
HER) 5—3 %ﬁ{fjﬂ;ﬁﬁ 3 IAB0AA Hfiiathal 3 — 44, 400 43,900 | A 1.
HEG) 5 —4 - T ) 1122483 2 4+ 34, 400 33,600 | A 2.
HEGR) 55 1 FHET B 52 AR 1586 7 34 8, 350 8,100 | A 3.
HEUL) 56 LT %Ik 8767521 14, 800 14,600 | A 1.
HER) 5 -7 R TSR] 12137 2 29, 900 29,500 | A 1.
HEUR) 58 RALET RSP 7 RESK 11113647 114+ 54, 700 54,500 | A 0.
HEUR) 5—9 21| MT ELYT48317 2 31, 400 31,300 | A 0.
HER) 5 —10 1] H: 538497 28, 600 28, 600 0.
HER) 5 —11 REsg 2 TH4A%E 345 45, 500 45, 500 0.
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O E B | EROPEROREE I R | 2T SRR | 8 SR | i
HEG) 9—1 FUEHT516% 9 44 7,250 7,250 0.
HER) 9—2 W BT — ) Y1477 51 14, 300 14,100 | A 1.
HE) 9—3 ZAEHT O 9087 1 7,300 7,200 | A 1.
HEGR) 9 —4 T 5 % 1 4% 16, 900 16, 900 0.
HE) 9—-5 I BTHER 31673 8 4t 9, 650 9,600 | A 0.
fmE R —1 i T FEHT A 333% 5 38, 400 37,200 | A 3.
() —2 BT 2628726 [HIMT35—25) 27, 300 26,500 | A 2.
WHOR) —3 ﬁj%lTamoog%é L 28— 32, 200 31,100 | A 3.
wH () —4 TARYRET 705322 25, 800 25,000 | A 3.
mE(R) —5 JH BT A 683780 26 1-MT54—10) 24, 500 24,000 | A 2.
wH () —6 & HRT517% 1 4% 29, 100 28,000 | A 3.
mm ) —7 FAHTIIAA 2187 2 6, 000 5,900 | A 1.
wH (%) —8 FEHCETALES897 1 6, 000 5,900 | A 1.
wHEOY  —9 EHRMTFHE) 1 = 6887 4 4, 100 4,000 | A 2.
wHE () —10 VE LA 4027 1 4+ 1, 850 1,800 | A 2.
() —11 VT GLHETIE )1 A 26 1, 650 1,600 | A 3.
WwHE (L) 5 —1 HIFIE D HMT 15726 54,200 53,500 | A 1.
(5 5 — 2 FHTHT L % 18007 4 41 8, 400 8,300 | A I.
WwH(R)5—3 PE TP .1 12687 6 5, 500 5,400 | A 1.
b (B 5 — 4 T A618% 1 [ZHFHT42—12] 34,600 34,400 | A 0.
AHR) 9 —1 ;%6%7TE“128§133 T 12 23, 600 23,000 | A 2.
KEG)  —1 K TR BT R 5244/ #2762 3 30, 300 29,700 | A 2.
KE () —2 KHEETRKHSFS /IR 818% 4 20, 700 20,000 | A 3.
KEOR) —3 K HE TR 7K FH T 2~ 28278 22,700 22,300 | A 1.
KE () —4 R R i <F 1 333718 23, 300 23,100 | A 0.
KEUR) —5 K TR HFE IR = 11129 7 5+ 26, 300 26,000 | A 1.
KE(R) —6 K T K H 5[] /i e 3288 4 21, 100 20,400 | A 3.
KE) —7 TSR T /NI ) AR A 41511 18, 200 17,700 | A 2.
KE () —8 {EERTA= 5 M 1508 % 15, 100 14,900 | A 1.
KEW) —9 ZJBEMT I B/ 117367520 8, 500 8,400 | A 1.
RKHM)5—1 R FETOR A 4 9403 8 41 35,200 34,300 | A 2.
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O E B | EROPEROREE I R | 2T SRR | 8 SR | i
KHE L) 5—2 {BERTZ 0 58431940 18, 500 18,100 | A 2.2
KR 5—3 R & TR A 548% 3 34,000 33,200 | A 2.4
KHEUR) 9—1 S FEHT R 4137% 15 5, 050 5,000 | A 1.0
k() —1 LR TR S T3 517487 1 26, 800 26,200 | A 2.2
2k () —2 RIF T4 1717933 23, 700 23,200 | A 2.1
2Rk (F) —3 fRRHT REFL 18T 17, 600 17,300 | A 1.7
2k (R) —4 R EHTIE U 3327 20, 900 20,500 | A 1.9
LZH(R) —5 1B KRHT 7 953 7,500 7,400 | A 1.3
k() —6 JRWERT S WH5627 3 16, 600 16,200 | A 2.4
k() —7 JEHRRT AR 1667 5 8, 100 8,000 | A 1.2
k() —8 fRKHT 22 H 12507 9 13, 200 13,000 | A 1.5
k() —9 HEERT )1 V5 491% 7 16, 600 16,400 | A 1.2
TR () —10 PEARNTSHTH54% 13 18, 400 18,200 | A 1.1
2ok (FL) 5 —1 R TN 11827F 1784 37, 800 36,500 | A 3.4
2ok () 9 —1 HThEHT1147%13 14, 700 14, 700 0.0
THE(R) —1 TLHETAR) IR 1218 %% 17, 300 17,000 | A 1.7
TR —2 BATET AR EPR19715 7 10, 100 10,000 | A 1.0
TR —3 10T A 1255745 16, 700 16,300 | A 2.4
TR —4 FAGENT A 1322718 23, 500 22,900 | A 2.6
(R —5 FREFHERT 23327 2 24, 900 24,800 | A 0.4
TR —6 FIMT 353320 14, 800 14,600 | A 1.4
) —7 BATHT)IF 143 1 4+ 13, 000 12,800 | A 1.5
EE(R) 5 —1 A ENT23067524 47, 500 46,300 | A 2.5
THE(R) 9 — 1 HEEFHRT 23073 1944 8, 300 8,200 | A 1.2
ER) —1 L T R RHT R HR 10907 6 18, 800 18, 800 0.0
ER) —2 BHAHTA279% 6 4, 750 4, 600 3.2
E(R) —3 R HCHT SR o] 1 3877 7,500 7,450 | A 0.7
E(R) —4 JRFSEHT N H 10113 1 20, 100 20, 100 0.0
E(R) —5 IR /AR 1407 3 13, 000 12, 900 0.8
Er(R) —6 HANTHA 527719 6, 750 6, 700 0.7
(R —7 ARIKETHT 44173 20, 800 20, 500 1.4




BN SEHAG T A

O E B | EROPEROREE I R | 2T SRR | 8 SR | i
Er () —8 ARYRHET VY H %$1647 11 13, 200 13,000 | A 1.5
Er(R) —9 ARURE] FREAF 12109 1 28, 900 28, 900 0.0
Em (R —10 = JJBHTHE T 858% 5 4 14, 000 14, 000 0.0
L (R —11 HEHT#EE2190% 1 9, 900 9, 800 1.0
T () —12 = TR =) 29567 3 18, 000 17, 800 1.1
L (R —13 =BT =J] R 1230858 22,000 22,000 0.0
T () —14 w5 T & HEET27043 7 6, 600 6,500 | A 1.5
LR —15 TR R EF 5035 2, 700 2, 700 0.0
Er () 5—1 ARURH] AR IRA68F 6 26, 100 26,000 | A 0.4
ERUR) 5 —2 = )RR =J]=35% 2 4t 37,000 37, 000 0.0
L (I) 5—3 A ETHME 2150766 11, 400 11,200 | A 1.8
Er(R) 9 —1 ARYKHT B 51093 % 10444 18, 400 18,100 | A 1.6
BHE)  —1 (SRR HZERT FAH 3453 1 11, 000 10,900 | A 0.9
BHEGL) —2 | Zpk710%& 4 17, 600 17,400 | A 1.1
BHZEGR) —3 |[#FE1556% 8, 150 8,100 | A 0.6
HZER) —4  |Bi{H684% 14t 14, 700 14,500 | A 1.4
RHZEGR) —5 | LRH478% 7 8, 750 8,700 | A 0.6
BHER) 5 —1 | =A265% 23, 100 22,900 | A 0.9
WHE(R) 5 — 2  |R{H1043% 2 4t 23, 200 23,000 | A 0.9
i () —1 fRA R AR B AT 1608 % 2 9, 300 9,200 | A 1.1
iR () —2 T 512201720 8, 700 8,600 | A 1.1
firg () —3 TETEI9H: — 3,300 | T
i () —4 PP 10087 1 5, 050 5,000 | A 1.0
i () —5 b4 12475 3 6, 900 6,800 | A 1.4
i () —6 TR413447% 3 3, 700 3,680 | A 0.5
i () 5 — 1 TEJF 20797 7 13, 900 13,600 | A 2.2
i () 5 — 2 R4 1660% 2 10, 800 10,600 | A 1.9
AW  —1 BB AR ABT R 1IA1147% 3 6, 200 6,050 | A 2.4
AR —2 KP)NA427F 15 14, 000 13,700 | A 2.1
AR —3 RFKH 3518 3 4+ 7,600 7,500 | A 1.3
FHB) —1 FHRIT 5657 1 6, 000 5,900 | A 1.7




BN SEHAG T A

O E B | EROPEROREE I R | 2T SRR | 8 SR | i
T —2 K277 9, 400 9,300 | A 1.1
EMUL) -3 HEAT497 1 3, 050 3,000 | A 1.6
ERO) —4 HAEAFR39TH 1 4+ 4,100 4,050 | A 1.2
FEH ) 5—1 KD 17710 14, 000 13,800 | A 1.4
Er () —1 (L BT R AR 1473 3 4,150 4,050 | A 2.4
B (R) —2 8724137 1 5, 000 5, 000 0.0
B () —3 24037 1 3, 750 3, 700 1.3
Erg () —4 TR 19443 4,150 4, 050 2.4
B (R —5 T HIFT258% 8 5,100 5, 000 2.0
B () —6 % 13817%16 5, 250 5, 250 0.0
Brg(R) —7 H E3220% 2 3, 450 3, 400 1.4
ErF(R) 5 —1 T H3I554% 3 4, 950 4, 850 2.0
Epg () 5 — 2 487 2 5, 650 5, 600 0.9
BRI (R) 5 —3 K 42741 6, 750 6, 750 0.0
Er(R) 9 —1 THIFT93% 1 4, 050 4,000 | A 1.2
FEFNEF () — 1 FERACHEFEFETSFH 8 N 1 15, 700 15,300 | A 2.5
HEREE (R — 2 |[FErsLE 24, 900 24,300 | A 2.4
() — 3 |$RHEBr50TE 27,900 27,400 | A 1.8
FEFNEF () — 4 | KLi9T4E4T 15,100 14,900 | A 1.3
TR —5 | FHIR790%E 1 11, 900 11,800 | A 0.8
HEREF () — 6 |E#E990% 2 4, 000 3,950 | A 1.3
B (F) 5 — 1 | A e17E S 29, 300 29,100 | A 0.7
R () 5 — 2 |HE226% 1 19, 300 19,100 | A 1.0
sHEO) —1 i EHTAIARFS R AB67% 6 9, 250 9,100 | A 1.6
sHOR) —2 i AR fliA223% 2 6, 450 6,300 | A 2.3
HHUR) —3 N H 8727 12, 900 12,600 | A 2.3
sHOR) —4 E R i626% 8, 500 8,300 | A 2.4
HHUR) —5 ST PN 2997 5 8, 750 8,600 | A 1.7
EE) 51 7S B #i785% 4+ 17, 000 16,500 | A 2.9
M) —1 BRlRg Al v T R i 1211233 1 4h 8, 800 8,750 | A 0.6
(R —2 KFIFF1671% 4,500 4,450 | A 1.1
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O E B | EROPEROREE I R | 2T SRR | 8 SR | i

/i) /i) (%)
(%) —3 RFFRE2047 4 5,000 5, 000 0.0
MR 5 -1 RFAE 9678 18, 000 17,600 | A 2.2
R — 1 |\ EETRTHRE T T TATE 1 14, 300 14,100 | A 1.4
W) —2 [RFEMFRE299% 1 13, 300 13,000 | A 2.3
P B (R —3 | KRFHIFF#%IMe63E 1 16, 800 16,400 | A 2.4
W) 5 —1 | RFHHASSAE A/ NEE351 8% 1 28, 400 27,700 | A 2.5
mRUR) —1 HFRATTFAR Y 22747 3,900 3,900 0.0
MR 5 —1 FAER101435 2 8, 000 7,950 | A 0.6
Bz D 85 (BY) - — 1 Bk oD =5 HT it AL /= RiT553 1 14, 400 14,300 | A 0.7
Bz D 55 (BY)  — 2 AT R 257 % 2 6, 100 6,000 | A 1.6
Rz oD 5 (V) — 3| 2RHT1109% 22, 300 22,000 | A 1.3
Bz D & (W) — 4 [ Fifi FJR213% 2 9, 750 9,500 | A 2.6
Falz D 55 (B — 5|87 RNIR2348% 7 4+ 11, 100 10,900 | A 1.8
Bz D &5 (B — 6 b FH 3067 1 8, 950 8,800 | A 1.7
RG> ey (W) 5 — 1|HHTHE / U28% 1 44, 300 42,500 | A 4.1




